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Topic:- Child Development & Pedagogy (CDP)

1) The Socratic method is known as: / &<l faftl &1 faw & | frg @R W w1 SITeT 8
1. Discussion method / faaR-faw=] fafdr

2. Question- Answer method / TR fafd

3. Lecture demonstration method/ SIReATH &R fafd

4. Inquiry method / Wﬁﬁr

Correct Answer :-

« Question- Answer method / TR fafd

2) Law of Exercise stresses the importance of in learning. / SWTH BT fraw siferm
# & HEd IR 9 gar g

1. Reward / YRIH IR
2. Readiness / dddXdl
3. Practice / ¥

4, Impact / UHId

Correct Answer :-

« Practice / SN

3) According to Piaget, children experiment with sounds during the ./ T & SR, T

_ FERFEFO I TENTERa § |

1. Preoperational stage / Jd-SifhaTadd (WiSTORRA) AT

2. Concrete operational stage / d SfohaTaTd (dehIc STURIAN) AT
3. Formal operational stage / 3d Sfsharatas (BrHe SATIRRF) Sfawl



4. Sensorimotor stage / Hadl IR SR

Correct Answer :-

« Sensorimotor stage / Hdal UReh AR

4) Why is the learning environment important for active learning? / Gfepa R & forg arferma
&1 gfvawr i Ayl &2

1. To build knowledge through collaboration. / w FHHIE Y ikl P fopRId s & 1%112 |
2. There are no assessments. / Eﬁ'st SICNE] '_-lﬁl
3. There is no need to engage with the content. / e ¥ e aﬁ P ARG S :%)[%I

4. Tt uses multiple resources. / g Eb_'ic HTeT BT IIRT Sl %I

Correct Answer :-

« To build knowledge through collaboration. / TgIANT & HIEH I T B! fAHRId B3 & 7T |

5) Which of Erikson’s stages of psychosocial development typically occurs in adolescence? / TR

DI HAHHIG fAHTH $t DI A SrawT fafiy wu & fznvmawn 4 gidl 82
1. Identity vs. identity confusion / UgdIq d-1H Ugdld yifal

2. Generativity vs. stagnation / SIIHDB T ITH fuRan

3. Trust vs. mistrust / [T 19 Sy

4. Intimacy vs. isolation /‘Elﬁ'g?ﬂ §H faawar

Correct Answer :-
« Identity vs. identity confusion / Uga §-TH Ugd Hifd

6) Which of the following is least likely to be a sign of depression in adolescence? / frRIRTaRT g
H & f5H SauTg &1 HHd giF Bt AHTTHT §2

1. Sudden drop in marks / 3P H 3aM® R1aC
2. Missing classes / P&l AR BRR G

3. Withdrawing from friends / IR g geHm
4. Changing friend groups / o FI'H\—E»PT DI TG
Correct Answer :-

» Changing friend groups / o ?Iﬂff CIEGE]



Which of these statements best describes the ‘Law of Readiness’ according to Thorndike? / ﬂ'ﬁ%‘lﬁiﬁ
F IR 37 A BI-TT HY TRl (T BT AT 33T qui- HdT 872

1. It means that drill or practice helps in increasing efficiency and durability of learning. / H®HT fg e
URNE0T AT ST AT &1 gerT 3R R &l 9 & Heg Hral g

2. It means that preparation or disposition of the subject contributes to learning. / SHPRI 3 g o fawar ot
IR A1 THTa ST B FNTEH < B

3. It means that the organism changes its response till an appropriate behavior is hit upon. / H®HT 3 fugg
% T IUgad TAER & UER B b Siid 31U+ Ufafshar ggadi gar g

4. It means that trial and error leads to connections being formed. / SHPT 3 g o g SR e & HRUT
NECEERE
Correct Answer :-

It means that preparation or disposition of the subject contributes to learning. / SHHIT 3 § for fawg &
T A1 THTG AT B AT e B

8) The ability to think rationally and act purposefully is ./ THIUT U F A 3R
I TP T HR B BT &Har =

1. Reasoning / L3
2. Perception / Gﬁﬁﬂ%f
3. Intelligence / @@

4. Creativity / Xd-TIHD I

Correct Answer :-
 Intelligence / §@

9) The term Bandura used for explaining, overall process of social learning is ./ oG A e+ a1
Y A Ufhar o gHgA & R fPa ug srwaT g |

1. Self-efficacy / SHTH-TUTTHTRAT

2. Conditioning / 3JH

3. Vicarious reinforcement / FdTpd Uaer
4. Modelling / gfaegur (IIV'IEﬁiTI)

Correct Answer :-

« Modelling / Ufa==qur (@TST)

10) are considered to be the most important factor in students’
achievement and successful implementation of inclusive classroom. / Gal



faendf &1 IuafRr 3k THERN Fan & Iwd Fra-aa- § Ia9 Hgaqul
PRG AFETSAET |

1. Teachers /ﬁTW

2. Principal /H?J'Fﬂ?l'lﬁ
3. Supervisor / tlﬁ&@
4. Counselor / HdTghR

Correct Answer :-

» Teachers /&[W

11) Which of the following theorists believed in the role of biological maturation in the
development and learning process? / fAafefad # ®19 A RigiaeR fAerarg ik i #t
wihar & Sfae ufvumar $t YfareT R Ay #d &2

1. Kohler/aﬂ_@'ﬂ
2. Skinnerm

3. Viygotsky / AT
4, Piaget / e

Correct Answer :-

« Piaget/ oot

12) Reasoning is studied under ./ & Siqfa arfberdr &1 3reaa forar Srar

gl
1. Social development / TTATT® faHTy
2. Cognitive development / GITHTH® EEQRS

3. Physical development / QRIS famT

4. Personality development / CHESICATEAR

Correct Answer :-

« Cognitive development / GTHTH®D EEQRS

13) Child development refers to the and changes
that occur in human beings between birth and the end of adolescence. / 1@ fd®H™ A ared

, 3R TRadl T 8 S 77 & o 3R PRI & 3id &
CIEAS GRS

1. Biological, Psychological, Emotional/ W, Il:haiﬂﬁ$, HIFATHD



2. Qualitative, Empirical, Quantitative/ J[UITHD, AJHIY, HIATHD
3. Childhood, Adulthood, Adolescent/ SIdU, dYIh I, fHaR

4. Infancy, Early, Late / U+, \_Yl?cﬁ, w_Y

Correct Answer :-

Y o\

» Biological, Psychological, Emotional/ \;iach, H"Ilak‘lll"lcb, HIIATHD

14) India signed the United Nations Convention on the Rights of Persons with Disabilities
(UNCRPD) in which of the following year? /

HRd A fagpain aafeadl & sfieRT 3g Wge I WA (UNCRPD) WR =1 # ¥ fra adf &1
TR P2

1. 2006
2.2007
3. 2008

4. 2005

Correct Answer :-

« 2007

15) Gifted children are good at / UfdHTRITe 9= fbe HeH & 9gav gld 82
1. All of the above / B'CRJEH gt

2. Ability to quarrel with others only / Had 3T b 1Y RS B B AT |

3. Ability to solve problems only / Had G B 8 B DI agdT H

4. Ability to help teacher only / $Had R8s B TG B B! gl o

Correct Answer :-

 Ability to solve problems only / Had TS BT 8 B DI agar H

16) Abraham Maslow propounded which of the following theories of motivation? / 3dTgH

AT A o & frafifed Rrgial § @ fewe! ufqufea fear?
1. Humanistic Theory/ I EGGITA|RSRA

2. Incentive Theory/ Wﬁﬁﬂa

3. Drive Theory / WW

4. Expectancy Theory/ 3uen Rigid

Correct Answer :-



« Humanistic Theory/ AMFdAIGIRIGId

17) What are some ways to help children develop problem-solving skills? /

T W AT AT & DI [ABRIT F | Heg He & PO aildb o1 32

1. Be a helicopter parent — do not give children space to make mistakes. / T NI
STUTTH - - T DI ATl DR BT SHTWR A ¢ |

2. Avoid giving children the chance to make tough choices. | 9 B Sifed fawed J-1d
1 HIdbT ¢ 9 & |

3. Make problem-solving a fun part of the culture of your home. / THEIT-THIYM & 3104

W DI WP DI Th AoGR g1 1|

4. Children must be protected from experiencing failure. / gl Bl BT BT THAT B A

CEIRIEIEY

Correct Answer :-

. Make problem-solving a fun part of the culture of your home. / THIT-GHIYT B 3T

W P! WHI BT TP HelgR fen s

18) In Freud'’s view, development is a process. / WIUS & faaR #, faera
THs_ ufsargl

1. Continuous / FIRaR

2. Random / AR5 ®H

3. Active / Tfohg

4. Discontinuous / 3{fARAR

Correct Answer :-

« Discontinuous / AR

19) What type of forgetting occurs when information in our memory stops us from recalling

other information that is also stored in memory? / SId UL '\‘Hﬁf ¥ SAHeR gH '\‘T[f?f i)
IR 3T AFPRI B TG B | APl g, df fHT UdR ot Yya gidl 82

1. Decay / Udd
2. Delay / [ENE]
3. Cue-dependent forgetting / Hhd-yfd Hd

4. Interference / 31AAY

Correct Answer :-



« Interference / 3aRIY

20) What type of a learner is one who learns best by watching movies or documentaries? /

gﬁﬁr&mﬁvﬁﬁﬁﬁmqﬁﬁlﬁaﬁmmmm%aﬁmmmﬁwmﬁ
?

1. Aural / HURGRERY
2. Kinesthetic / TTIRTEH
3. Reading/writing / 9o+ / SLCk]

4, Visual / €7

Correct Answer :-
e Visual /27

21) What type of language theory focuses on the inborn capacity of infants to learn

language? / WW%WW&%W &A1 IR fg bR &1 U Rigid
Hfgag?

1. Behaviourist theory / SIa8R figid

2. Nurture theory / gy Rygia

3. Instinctual theory / T8 Rigid

4. Nativist theory / g9l JATG! RiGid

Correct Answer :-

« Nativist theory / el JHdTal Rigid

22) A detailed information about the individual’s ancestry is collected when the following

method is used to measure personality. / mmﬁm%mﬁaﬁﬁmmﬂ
e a8 @ safaa @) dxmad & IR § U fawgd SHeR! T g |t 8

1. Interview / HI&TPR

2. Case History / W%@

3. Projective tests/ PRI
4, Questionnaires/ PENCKII

Correct Answer :-

« Case History / W%@



23) If the teacher has to know about the students’ strengths and weaknesses before the
instructional materials are organized, the teacher should conduct: /

gfe Rrere &1 FAdaTae IraiE) &) gafRd $37 A ugd o) B wfRai 3R
FHSNNYT & IR A FAAT1 8, Y R1er o) fhg &1 Jara S 91t e:

1. Summative Assessment / JRITRId HAih
2. Diagnostic Assessment / EEIEED W
3. Interim Assessment / 3fdRH W

4. Formative Assessment / I oAb

Correct Answer :-

» Diagnostic Assessment / eI Jj@’*«lidﬂ

24) The creativity of the child can be most appropriately brought forth by giving

%ltheclass./w&nﬁ Y T8 B WIS AT B SR T A T TR o THal
|

1. Homework / W

2. Notes / %qu

3. Impositions / 3RIguy
4. Assignments / HTI':L%{QH

Correct Answer :-

« Assignments / THIGRM

25) Visual problems get solved more comfortably than verbal problems, during which stage
of cognitive development? / T THETY AR THETSM BT a1 | SfUF R 7,
SIS e & g o & R 8 gd 8 wdt 87

1. Concrete operational /Hﬁﬂw W &ﬁlmﬂ?l)

2. Preoperational / Jd-Heh T (MIHTIRRA)

3. Formal operational / \3‘|T|:cf BIERIGED (Q'T\Iﬁ?‘[ SHTIRRA)
4. Sensorimotor / A IR (ﬁﬂﬂ'ﬁhﬂ)

Correct Answer :-

« Concrete operational /ﬂﬁﬂw (EI':_d'ﬁ_C’ &m

26) What dilemma did Kohlberg present to children in his study on moral development? /

Digaat A U= e s & rega=T & S=i & F1 gRaYT IRgd B1?



1. Hector’s dilemma / %TET G| gﬁ?ﬂ
2. Heinz’ dilemma / G5 &1 gﬁ?ﬂ

3. Mary’s dilemma / R Pt gﬁ?ﬂ

4. Henry’s dilemma / SR B E\{ﬁ?ﬂ

Correct Answer :-

« Heinz’ dilemma / 851 &1 gﬁ?ﬂ

27) Which of the following is least effective in educational implication of attention? /

fFrafafea ¥ 9« o & e Ffgard 9§ fFeaw gurdi 82
1. Theory talk / Rgid araf

2. Audio — visual aids / €T —4d SUTGH

3. Gestures and movements / HTd-HHT 3R Tfafafdy

4. Incorporation of variety / [ATA&dT THIARH

Correct Answer :-

o Theory talk / Rgid arar

28) Aptitude tests are indispensable tools at the hands of to provide

educational and vocational guidance services. / ﬁf&lﬂ? Gﬁ? ATITHIRIS 'FIF‘fE!{ﬁ
AT U S & forg arftraraar v 1 Sffrard IuHor &

1. Teachers / ﬁT&‘lﬁ
2. Friends/ EEE]]
3. Doctors / Fafras!

4. Counsellors / “v’l?l'l%w
Correct Answer :-

. Counsellors / JATGHRI

29) CANCELLED

According to Carol Dweck’s Mindset theory, an incremental view of ability means WA 23|

AP & ARGl & RIGid & IR, &HdT & TP 98¢ €x9 b1 Hdad 2l
1. a stable and uncontrollable trait. / Tch fRR 3R sifafag fawyan

2. a characteristic of an individual that cannot be changed. / Ydh e ot faQvdr o dadl '_'%T Sl b dTl
gl



3. a set of intellectual capabilities a person possesses. / Sifgd &Tdms &1 U qH= Sl U Afad & U™
I g|

4. an ever expanding repertoire of skills and knowledge. / DI 3R M DT UD ﬁﬁﬂ fowr|

Correct Answer :-

 an ever expanding repertoire of skills and knowledge. / DI 3R AT DT UD ﬁﬁﬂ fowr|

30) Assessment results of a very strict yet effective teacher’s class are below

average. The factor that is impacting learners in this class is the -/ U® dgd Bl

FSP Afb YU R1ere aif & srpad & aRomd 3iiHd  FH 81 98 SR & 59
w1 § Ry &Y yuifda s e 8, A= &

1. complexity of the topic / f[a&g &t Sffeerdr
2. boredom of learners / FRI&yal &t Sifvad
3. relationship between the teacher and learners / e SR Rienfial & ot gey

4. relationship between new content and old content is not clear / TS Tt 3R ﬂTFﬂ it &
i ddy Wy el ©
Correct Answer :-

« relationship between the teacher and learners / e 3R Rienfial & g gey

Topic:- General Hindi (L1GH)

1) fIod qu-UsE 9uf § U WHUH 9 WPl § TP 95T 9GA1d ST 3 | S-S IT-TST- A HR-ITH 39
Fad gféor R a@ Wt T8 21 A IR YR F ot 5T WER A Iuasy 7 3R 3T df W URA B grEr
TEpid YT R I & a gt g1 3@ 317 Fal f g, I URAH Aét-gra-anT smus) e & s
BRE PS’ @aﬁmmwm@mﬁﬁ@w%lw WRE P8’ H TR, Teed Sielt 7% el nfaa
¥ U O § 70 €@ @ a9 QG A e 39 Svad: Rt ¥ Rie s a8 R @ freew
TS & Ude §¢ ©U I a - ﬁmaﬁ@wmv&ms‘ﬁﬁ?%ls@ﬁmwﬁq%ﬁWW
arvﬁwmﬁﬁq@ﬁ,ﬂ%@n@ﬁm%ﬁﬁwﬁawﬁﬁw-wﬁwmma%%l

ST TR B Ugh A fAT 7T w1y HT 3R Ta13d
U= STaT TRpia HEl B 32

1. i3t YRa

2. GI&OT R

3. Q41 HRd

4, 3R HRd

Correct Answer :-

o 3TN HRA



2) @& eI,
3 & e,
T I A & urh & g
TP & e,
a%qﬁ,
ARG-ATE Hife-Hife grdl & Tl 31 ik
T &1 e,
aﬁqﬁi
TUR-89R Wdl &1 g &1 7701 et

B 1 8?

IRAPT T T®

qfed F uF Prg R a8

e1di & wef A ufwr

18- Freft-weeht g w1 qur enf &

TR 8 GRS P froi &1

Rywer gon J@ g 3 gar &) e &1

I UL B Ugh - AT 710 uy &1 IR 9154 -
U B 7182

1. AfY & U BT o1 3R fHami & g1l &1 Ho R ulem gF
2. 3T A B TE

3. Had b & 8Tl BT HSR URYH

4. Bad il & Ul BT SlIg

Correct Answer :-

. A % Ui &1 g 3R fHa! & g1l &1 Ho R uRed Al

T FIR- PR gt 35 et iR
TP 1 e,

FATE,
FUR-EWR Wl &1 FHgY &7 7o o

T T 82
IRAPT T T®
qfeal & urht d19g } 98
T} & o=t Ft migw @

18- Frefl-wHeeht g w1 qur end &

TR & GRS PI fohun &1

Rywyer gon T 8 g1 3 RR%A 311

IwfT eI B ugwe R Y T Uy 37 SR 9ansd

U fhdA 814 BId $I GHT I91d &2



1. Y
2. T8 q IS &t
3.Th gl
4. PIfC-PIfC BT

Correct Answer :-

. Bifc-Pife gy

- BRI gTel 3wt Bt TR
TP o1 8,

g B E,
TUR-WR Wdl @t g} o1 701 oel:
A T 82

IRAMpoTE e TE

i &y Hrg B 98

Tl & el A afwr @
Wi-Fref-deeht g ST qur e §

FUAR & gl Pt fabvon &1

Rrger gan W ia 8 g1 3t RRpA 31
ITI TR B Ugdh - faT 71T uy 1 IR 9159
U= A SUSM gd ATIRAP ded 71 82
1. ®ad gt

2. Had AHA UReH

3. Hhad (el P IR

4. IWad gt

Correct Answer :-

. SWRIad gt

e wr AR & e T g

TF & g,

aa;:rﬁs

ATE-a Hife-Hife grul & w=f &) i
TP B 8L,

q I,



FOR-gR Qdl I FHET T 0T e

T T 8?2

IRA DT T®

qfeai d urft d1og R T

e & el F ufewr

- Fref-deeht g ST qur e §

FUAR & gl Pt fbon &1

e gon Yia 8 gar &) RRea @

ITYa U Y Ugh A1 3T 718 9y 1 3vR 9133
UTH: B &) GHT 99 & fraeT aieM giar 22
1. Had Il &l

2. Had HoR URYH I

3. $ad Al BT

4. IWRIFd I+ 1

Correct Answer :-

. SWRIad I+ F1

6) TP & eI,
3P g,
R AR A & urt 1 g:
TP & e,
a%qﬁ’
AR-ATE Hife-Hife s1df & wu=f &) i
T &1 e,
I
TUR-EWR @l &t gt &7 o7 et

A T 82

IRAN TS e a8

afeal & it BT 911G 8 9%

BTyl & wuxf # Afgwr 8
Wi-Fref-wdeett g ST qur e @

FUAR & Rl 3t fbon &1

Rywer gan Y iw 8 gar &) RRea &

ITa Ui B Ugh A1 AT 718 9y &7 IvR 9134
U= 1Y BT U g A ° A pia-ar a8 82

1. 81y

2. Yol
3. 8%
4.

Correct Answer :-



7) T & e,
& & e,
T I A & urh &1 g
TP & e,
a%qﬁa
ATE-ard Hife-Hife grul & w=f &) i
TP B 781,
MEJE A
FOR-FIR Wl Bt fg) &1 707 ek

B T 8?

IRANpTTEIRTE

TR S TR P L 7€

Tt ¥ Wl Pl

18- Frefl-weeht g o1 qur enf @
FUAR 8 ol 3t fheon &1

Rywer gan Jo g 8 gar &) RRea &
I UL B Ugh -4 AT 710 Uy &1 IR 94154 -
UL ‘ISP BT UGIgar Ueg 82

1. ®Had faTdx

2. Had g4

3. Had YHTH

4. IRIad g+t

Correct Answer :-

o SWRIad gt

- TE PP aTelt & Tt it R
TF B T8,

AR,
FIR-EWR Wl &1 Figl &7 7o o

A T 8?2
IRANpT IS e TE
qfed &y Prg R 98
U & Wl P Al d

18- Frefl-weeht g s qur enf &
FUTR 8 G Pt fareon &1



RweT gon G&1a 8 ga1 &1 AR &1

IUY R TR B Ugh -1 AU 718wy &7 IR Ta154 :
T: e F1 fIad W 7 2

1. 4&y

9) & & g,
a%qﬁ’
X I A & urh & g
TP & e,
31 & 8],
ATE-ard Hife-Hife grul & w=f &) i
T &1 e,
aﬁqﬁ:’
FIR-FIR Wl Bt fg) &1 707 o

A T 82

IRAFoTWITT®

afeat & uri BT og € a8

g1t & Wl P Ak

Y- Preft-wHaeh g o1 qor enf @

FUAR 8 gl 3t fhon &1

Ry gon Joia 8 gar &) RRea &1

ITT U B UG A1 3T 71T 9y 7 IR 9134

U e WG A A A R TR
L. gfee

2. T

3. S0 4 IS gl

4. IHTMY

Correct Answer :-

10) T& & g,

a%qﬁ’
T IR Afet & urit w1 Tg:
TS & T8I,

a*qﬁ’
ARG-ATE Hife-Hife eTUl P T=f 1 i



TP 3 e,
HEIEGH
FOR-FIR Wl Bt fg) &1 707 e

B T 8?

IRAFo TRz T®

Afeat & uri BT g & a8

B4l & e A ufwr

Y- Preft-Haeh firg &1 o enf @

FUAR & o 3t fbon &1

Rywer gan Jo g 8 gar &) e &

IT U B UG A1 3T 71T 9y 7 IR 9134
T: FAT PT A Veg PI-91 82

1. R

2.84
3. PX

4. d1g

Correct Answer :-

hﬂﬁﬂﬁﬁ’%uﬁimmz

TP & e,

31 & 80,

ARG-ATE Hife-Hife eTUl & T=f P i
TP &1 e,

aﬁqﬁ‘;
TUR-E9R Wl &t gt &1 707 o

B T 82

IRAPT T T®

Ffed & url 191G ? 98

Tl & Wi St afkar g

18- Frefl-weeht gt s qur enf &

FUGR & ol Pt fbwon &1

Ry gon o ig 8 gar &1 RRea &1

ITT U B UG A1 3T 71T 9y 7 IR 9154

U: U BT fIene 2eg Fa1 ghm?
1. 3{qy

2. 40

3. ST A HIS TEl



+ Fage

Correct Answer :-

12) T& & g,
& & TE,
X I e & urh & g
TP & e,
a%qﬁa
ATE-ard Hife-pife gral & wu=f &) i
T &1 e,
g P e,
FUR-FIR Wl Bt fg) &1 707 e

B T 82

IRA PRI T®

Afewl & it BT 9g € 98

B1di & wef A ufwr

Y- Preft-Haeh gt o1 o enf @
FUAR & o 3t fHbeon &1

Rywer gan o ia 8 gar &) RRea &
IT U P UG A1 3T 71T 9y 7 IR 9134
WRH: FTY’ BT TTH Weg HI-T 82
1.8

2. 8Ikd

3.8

4. BT

Correct Answer :-

13) U@ & e,
a%qﬁs
T A Al & ur &7 g
W%qﬁ,
a%qﬁ’
-G Pife-Hife g1t & Tt &t nfemm:
TP B e,
HEJEGH
FUR-BUR Wl &t gt &7 707 oH:

T T 8?2
IRA PRI T T®



Afea & Ul HTW1g 8 I8
1T & vt H afpr @

W -Tel- gl gt &1 o 4 3

FUAR & gl 3t fbon &1

Ry gon Y w 8 gar &) RRea &

ITa UL P Ughs -1 AT 718 9y &1 3wk 9134
U §a1 BT Taigar Jreg H1H-I1 781 82

1.9

2. 9HR

3. g
4. 99T

Correct Answer :-

14) @ & e,
31 & 41,
R I it & i o g
TP & eI,
a1 & e,
ARI-ETG Dife-bife gl & Tt ot i
TP &1 e,
ST
FIR-EWR Wl &1 figt &7 7o o
B T 82
IRAPoTHETE
afeal & it BT 91g 8 9%
B4l & wef A ufwr
- Tet-Heel gt &1 Ior w3
FUAR & Rl 3t fbwon &1
Rywer gan Yo a8 gar &) RRea &
IT U B U A1 3T 71T 9y 71 IR 9134
U U Oeg A A § T g2
1. gfceiT
2. TAIfCHT

3. IHIfCIT
+ R

Correct Answer :-



15) U@ & e,

a%qaa
X I A & urh & g
TP & o,
aa;:lﬁ’
ARI-TE Pife-Hife graf & wu=f &t i
TF B
aﬁqﬁ;
FUR-EWR Wl &1 Fig! &7 o o
B T 8?
IRAMPoTE e TE
qfed &y preig B 98
T F el A afzwr
1Tt -Haed g ST e B
FUAR & gl Pt fabwon &1
Rrver gan W ia 8 591 3t RRFA 31!
IUYad U= P UgHR -1 feT T8 Uy &1 IR 9415 :
U ‘B T8 U8 [P PR S1ara g -
1. UHdIddh
2. JHRddh

3. HIddIddh
4, JHgdldh

Correct Answer :-

o UHdIdD

16) ot TU-Use 99 # gAR) WU 31 WPl # TP IS1 IaTa ST 3| TSU1-S I-TST-HIHR-ITH 3 haa

Sferor uRd 9 Wit T8 81 3 IR URa & ot 37 e § Suaw € 3R 3@ @) SR HIRd DI SEr TPpia
TR S A T gD 31 319 39 Ha1 1 7Y, ST HRAH AE1-STa-A1T 31! et §f 9 | ‘R §s* (@Rd
i) FT ga- W 93 X6 A G 981 7 1 59 “BRe B’ A TN, wﬁﬁv{iﬁﬁm%lwmﬁﬁﬁaaﬁn
7% S i Tee 3@ Syaa: fret ¥ Rig s T8 TR | ¢ ey Te@ & AFc 9g +U A 9 $U-A-FH
T3¢ Tt ulkfa 8 9% &1 33t IRe TS & $5 R yeR onft 9% Y Hivg &, A s & +%
famfie = doft  TR-IR & Fg AR TR B

SUY TR P UgHR - T 7T U4 T IR qa153 -
g frsa fras auf @ g0 WU & wepfa aaeh 82
1. 3T I BT To

2. TH-Ugg aul 9

3. - au g

4, IR-UTF au

Correct Answer :-

. ¢g.Ucgauiy



17) Frod Tu-uxE aul § gR WU S GPfA § TP IST Iq0Ta 7T ¢ | SS1-SIH1-TST-HIHI-IHH 3 Ppaer

Sferor uRd 9 Wit T8 81 3 SR URa & ft 31 W § Suaw 8 3R 3F A SR HIRd DI STar Tpia
TR S A & gDt 31 319 39 B! 1 §1, ST HRAI AE1-STa-91T 31! et 1 9 i | ‘PR §s” (@Rd
o) &1 Te o 3 e G 961 1 39 BRE B’ | TR, TS okt 3% 919 e § 1 T 9 8§ o8 @ @
% Hiftra argie Tear oF Gyad: fHedt & fig st T8 v | ¢ ey Te@r & A%c 9g T A 9l $U-3-FH
T3¢ Tt a8 99 71 32t iRe TS & B35 WG yeR ol 9% v Hivg &, e s ¥ a5
famfua ¥u doft ¥ R-TR H w78 910 W1 38 B

IUYa TR B UgHR A AT T uy F1 IR Fa139 -
UR: BIRE B8 &1 3 |1 32

1. H131 Ui

2. AT ¥ R farar S arer 4|
3. 3P YIS

4. Ugd Y U 32T 7T HISH

Correct Answer :-

. XydT T IR foear 9H arar HieH

18) e Tu-UxE ul A AR WU $ TPl H U 987 9014 31T ¢ | §SU1-SHAI-TST-HIHI-IHH 3T Had

Sferor uRa 9 Wit T8 71 A IR URa & ot 37 e § Suas € 3R 3d @) IR HIRd DI SrEr TPpia
TR S A T gt 31 379 39 Ha1 41 7Y, ST R AE1-STa-a1T 3! et & 9 | ‘e §s* (@ia
WIS) BT 9o 1 93 2571 A Ga 921 71 39 B B’ A TR, oo St &% divl e &1 U 9 3 $o € @
T Hiftra argie Ter 3T Gyad: fHaft & g st A v | ¢ ey Te@r & 0%e 9g FU A 9l $U-A-FH
T3¢ Tt a8 g9 &1 33t IRe TS & $5 R UeR 3l 9% Y Hivg &, AfeT s~y & &5
famfie ©u doft ¥ R A g AR TR B

IR TR B UG A1 fT T Uy &1 IR 9413y -
TR <3eTar BT 372 T g 82

1. 3Tt

2. S(URTd

3. $pidd
4, URfrd

Correct Answer :-

19) fIow TU-Uss 9l § §AR) WU $1 WPl & TP IS1 IGaTa ST 3| TSUI-S I-TST-HIHR-ITH 3d bhaa

ST YR 9% i 78 31 A IR URA & 2t 51 e A Iuersy B ST 3F At TR YR B ST WPl
TR S A T gt 71 319 39 Hg! ot 7Y, ST R At-gra-amT s e € 9 | v ¥ (@ia
HISH) BT a1 1 73 W57 A Ga 96T 71 39 B B’ A TR, Toed Sl 3% divl e &1 U 9 3 oo
% Hiftra argie Te@ 3@ Gyad: fhedt & firg st 78 ¥ | g friew Tew & 9%c dg Fu A 9l $U-3-FH
F=-g¢ 9t uftRra 8 9o €1 5t e T & % v yer it aw Ha Hivg g, afee sa-Rrea &+
famfoe ©u doft B R-1R A 18 T 9T R B

ITa TR B TgdR T fAT T vy #1 IwR ga13d



UH: “BRE B’ § 1 A 82
1. 3T A PIS a1

2. TR 3R T8 I

3. HId TR

4. S TS

Correct Answer :-

. TR AR Te g

20) o< Tu-Uxe 991 # AR WU &1 WPl § TP IST IqeTd T 3| TSU1-S I-TST-HIHR-ITH 3 hael

Sferor uRa 9 Wit T8 81 3 IR URa & ot 3 e § Suas € 3R 3@ @) SR HIRd DI SEr Tpia
TR S A & gD 71 319 39 H1 1 71, ST HRAH AE1-STa-91T 31! et g1 omdd | ‘B §s* (@Rd
i) FT ga- Wi 93 X6 A G 9871 7 1 59 “Be B’ A TR, Wﬁw{%ﬁﬁmﬁaélwmﬁﬁﬁﬁaﬁv
7% S e Tew 3@ Syaa: fret ¥ R s TR TR | ¢ ey Te@ & AFe 9g T A 9 FU-A-FH
T-ge¢ 9+t ulRa 8 9@ €1 5t TR T F FE W e it a@ Ha Hivg g, Afe -y &+
fafua ¥u doft ¥ R-TR # 78 914 W1 38 B

IUY TR B UgHR A AT 1T uy H1 3R Fa139 -
T B S’ T A A A |/1e?

1. Iaan
2. ddH

3. dogd
4, GRS

Correct Answer :-

21) o Tu-Uxe 991 § gAR} WU &1 6Pl § TP I3T IqerTd 3T 3| TSU1-S 1-TST-HIHR-ITH 3(d haal

Sferor uRd 9 Wit T8 71 3 IR URa & ft 37 e § Suas € 3R 3@ @) IR HIRd DI SrEr TPpia
TR S A T gt 31 319 39 Ha! 41 7Y, ST HRAH AE1-STa-A1T 3! firet & 9 i | ‘R $s* (@Ra
WIS) BT 9a- o 3 2571 A Ga 96T 71 39 ‘B B8’ A TR, Teou o B¢ il e ¥ | v wee @ oo @ A
7% S e Tew 3@ Syaa: fret % R s T8 TR | ¢ ey Te@ & A%c 9g +U A 9 FU-A-FH
T3¢ Tt a8 99 &1 33t IRe TS & $5 R yeR nft 9% v Hivg &, e s~y & &%
famfie wu doft ¥ R-IR A Tg AR TR B

IR T B UghR A1 fT T Uy &1 IR 9413y -
US: S8l Bgl T ol 82

1. Ui HRd

2. &0 HRd

3. 4l HRd

4, 3T} HIRd

Correct Answer :-



22) U gu-UsE a9 § AR WHUE 31 HXpid § TP IST 9G0Td 3T 3| TSU1-S [HI-TST-HIHR-ITH 3d haa

T YR 9% Wit T8 81 A IR URA & 4t 5 e A Iuersy B ST 3F |t ST YR B! @TaT WPpia
TTHT G ST A Bl gl ¢ 1 319 39 Bt H g, IR HRH A -Ta-amT Simusht fare €1 ot | wiRe B (qRd
Hier) &1 Te ot 93 e G 951 1 39 BRE B8’ | TR, TS SRt #% 91 e § 1 T w0 8 o6 @ @
T Hiftra argie Tea oF Gyad: fHedt & fig st 78 v | ¢ friew Te@r & 9%c sg Fu A 9l $U-A-FH
T2-g¢ It a8 99 71 33t Ie TP & B3 WG yeR onfi 9% v Hivg &, e e ¥ a5
fafua = doft | TR-ER & 18 991 TR B

Iua TR B UgH - fau T uy &1 IR 9413y
U: FANY for H¥pfd & gH-USE Iul # 991 URad- ST g2
1. 3T Y BIS Tl

2. %51
3. gadrg

4, d19-914

Correct Answer :-

o I4-Ulq

23) e qH-UsE auf # AR WU 31 Tpfd H TP 931 9019 311 ¢ | §SH1-SHAT-TST-HIHI-IHH 39 Had
Sferor uRd 9 Wit T8 81 3 SR URa & 1t 3 W § Suas € 3R 3F A SR HIRd DI SrEr TPpia

T QR S A T g1 71 31a 39 Ha1 1 71, ST HRAH AE1-STa-A1T 3! firet 1 9 a1 ‘PR §s” (@Ra

o) &1 Te o 73 e G 961 1 39 BRE Be’ | TR, oo okt 3% 9 e § 1 T i 8§ o8 @ |

T Hiftra argie Ter 9@ Gyad: fHedt & g st A w8 | ¢ ey Te@r & A%c 9g FU A 9 $U-3-FH

T-g¢ 9+t uRfRa 8 9@ €1 5t TR T F FE R e it a@ Ha Hivlg g, Afe sy &+

famfua ¥u doft ¥ R-TR # 78 914 W1 38 B

ITYa T B UgH - fAu T uy &1 IR 9413y
U= Pl BT Ay fasde ghme
1. gI+Pid

2. “v'ITI'IT-H?ﬁl

3. “€I1=IT+¥i?[
4. “v'ITPrTﬁ-[

Correct Answer :-

. Q:I'J:[Jr?ﬁ

24) fioe TH-UsE a9 # AR WU 31 T&pld H TP 931 919 3T ¢ | TSU1-SHT-TST-HIHI-ITHH 3T Had

Sferor uRa 9 Wit T 71 3 SR URa & ot 37 WeR § Suaw € 3R 3d @) IR HIRd DI SrEr TPpia
TR S A T gt 31 37a 39 Ha1 41 g, ST HRAH AE1-STa-91T 3! et & 9 | “BRe $s* (@3a
HIS) BT 9a- 1 3 W57 A Ga 96T 71 39 B B’ A TR, Toed Sl &% divl e 81 U 9 3 oo
TP it arg-ie Te 3T GHad: fHadt & fg st T v | ¢ ey Te@r & 9%c 9g T A 9l $U-A-FH
F=-g¢ 9t uftRra 81 9o €1 5t ave TS & B35 Wi yer onft aw v Hivg B, afee s & +E
famfie ©u doft ¥ R-IR A g AR TR B



IUY T TR B UGHR 1 [T T YUY BT IR 184 :
u=: ¢ fere &1 ordf o=l & w g

1. o1 e
2. Q1 e
3. dfiF fire
4. T fB1C

Correct Answer :-

. qfiFe

25) fUSd gu-Uss a9 § AR WHUE 31 HXpid § TP IST 9G01d T 3| TSU1-S 1-TST-HIHR-IGH 3d aa
i30T YR % Wit 781 71 3 IR YRA & 4t 57 1w A Suesy 7 SR 3a df ST YR B gTar aepfa

T QR G A & g1 31 319 39 Ha! 1 §1, ST URAI AE1-GTa-A1T 31! firet g1 9mddl | ‘B §s” (@3d

i) FT ge- W 93 X6 A G 981 71 39 B B’ A TN, Waﬁﬁﬁm%lwmﬁﬁwiﬁm

7% A arge Tew o Gyaa: et ¥ Rig svd T8 R | ¢ ey Te@ & A%c 9g FU A 9 FU-A-FH

T2-g¢ It ultfa 8 99 § 1 33t IRe TS & B3 WG yeR onft 9% v Hivg &, A s ¥ a5

famfua ¥u doft ¥ R-1R H 78 914 W1 38 B

UG TR $T UgHR - T 7T U4 &7 IR q153 -
7= : A A & P g fior wRedta e T 32

1. 394

2. 9IR

3. M

4. {1

Correct Answer :-

26) frod qu-UxE Il & g0 @MU 31 Wpfd # U I51 SGaTd 7T 3 | SSUI-SI1-TS1-HIHR-ITH 3 Fad

Sferor uRd 9 Wit T8 81 3 SR URa & ft 31 e § Suaw € 3R 3F A SR HIRd DI STar TPpia
TR S A & gD 31 31a 39 H1 1§, ST HRAIY AE1-STa-91T 31! et 1 9 a1 ‘R §s” (@Ra
i) FT ga- Wi 93 X6 A G 981 71 39 “BRE B’ A TN, @Wﬁ?ﬁﬁiﬂﬁﬂﬁhﬁ%lwmﬁﬁwﬁaﬁw
7% S i Tew 3@ Syaa: fret ¥ Rig s T8 TR | ¢ ey Te@ & AFe 9g T A 9 FU-A-FH
T-g¢ Tt ulta 8 99 71 33t Ie TS & B35 R yeR onft 9% v Hivg &, A s & a5
famfua ¥u doft ¥ R-TR A w78 914 W1 38 B

SUY TR P UgHR - T 7T Uy &7 IR T84 -
T: IR WA ol 82

1. ad IR

2. HId ad

3. had AT

4, SIS I



Correct Answer :-

o SWRIad Tt

27) o Tu-Uge 991 § gARY WHUH 31 6pTd § TP IST 94019 3T 3| TSUI-S 1-TST-HIHR-ITH 3d bhaa

T YR 9% Wi 78 31 A IR URA & 2t 51 e A Iuersy B ST 3F At ST YR B @TET WPl
TTWT R S A Ta gt 71 31 39 Hgl ot 7Y, ST R At-gra-amT s fira & 9 | BRe we (@ia
W) T T o 93 21eR) § Ga 98T 71 39 “BRe B’ A TR, oo Il &% Jiel 2niid €1 v 9 & o g &
T Wt age Tee 3@ yad: fadt & fig sromet A8t w2 | g fiFew e & Udbe 9 TU A dt U-9-FH
F=-g¢ 9t uftfRra 8 9o €1 5t aRe T & % vk yer it aw v Hivg g, afde sy & w5
famfua v doft & R-WR H 18 990 9T ¥R B

I TR B UG A1 fU T Uy T IR qa13d -
A Wi 31 faediv 2reg g

1. 3fTelifdrd

2. 3[BT

3. 3rfiH

4, 1Y

Correct Answer :-

28) U gu-Uss Iuf § §ARY WHU 31 6Pl § TP IST 9G0Td 3T 3| TSUI-S HI-TST-HIHR-ITH 3d haa

T YR 9% Wit 78 31 A IR URA & 2t 5 e A Iuersy B SR 3F At ST YR B @TaT WPl
TIHT YR =T A Bl gl ¢ 1 319 39 Bt H g, IWR HRH A -Ta-A1T Syt e €1 s | wiRe B (qRd
Hier) o1 Te ot 93 e G 91 71 39 BRE B8’ TR, TS SRt 3% 9 e ¥ 1 T w0 8 TS @ A
% WfE age Tee 3@ wyad: fadt & firg sromel Adt 2@ | ‘g e Te@ & Udbe d¢ TU A dt U-9-FH
F=-g¢ 9t ulkfRra 81 9o €1 3t oRe T & $% wirH yer it aw Ha Hivg g, afee -y & +E
famfd 7 Ioh & TR-TR § SE T TR 7

SUYe TRl BT UgHR A4 fAT T Uy 1 IR FaTsd -

U=H: T ) Ug@ ddb oY 3R Fa1¢ % erar wpfa fra qrat 82
1. SIUTH

2. SERIDT

3. UTfh e

4. fe=gzam™

Correct Answer :-

29) U gu-Uss a9 # AR WHU 31 HXpTd § TP IST 9G0Td 31T 3| TSU1-S [H1-TST-HIHR-IGH 3d aa
i30T YR a9 Hiftra 78t 31 3 IR URA & +ft 57 v A Sueey B Si¥ 3T |l TR YR B! ST WPl

TR S A & gDt 31 319 39 H1 1 71, ST HRAIY AE1-STa-91T 31! et 1 9 dl | ‘B §s” (@3

Hier) &1 Te o 93 e G 991 31 39 “BRE B’ | TR, oo okt &% 919 midd § 1 T 9 8§ o8 @ |



q HIfHd arg-e T8 3q AHTd: {6t & forg sre=dl 7di ¥ | ¢ Ay Te & Odbe 9 U d df $H-9-54
F=-g¢ 9t ulkRa 8 9o €1 3t e T & B wiH yer it aw v Hivg g, afee -y & +E
fafud v dsft | TR-1R A o118 9914 ST 3R B

IUYF I B UgHR A1 faT T uY F71 IR Fa134

U TP WM A I A1 oA $© A ao gf Hifdra 4
1. forart

2. AN T8

3. Gl

4. 3UHI

Correct Answer :-

TR BHR- PR 1ol & s ot i
TS B 81,

I
TOAR-EIR Wl &1 fg) &7 701 el

B T 82

IRAFo TR
Afeal & uri F1WIg 8 98
1Y & Wt Y afgur @

- prel-deet gt &1 o e 3

TR § GOl B fHon &1

e gan Ioa @ ga1 ot RReT &1

SUYF UL Bl g - fAT 7T Uy &7 3R Ia154 :
w=: RiErg & fore urit #19 gau searar g2

. forgt

2. A

3. T

4, Afear

Correct Answer :-

. et



Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

If we leave our doors --locked, our houses are liable to be burgled.
1. inter--
2. over--
3. pad--

4, un--

Correct Answer :-

e un--

2) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson



What does the poet most likely mean by the word "token" in the given line?

"By all these lovely tokens September days are here, "
1. days

2. days

3. people

4, signs

Correct Answer :-

 signs

3) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summaer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

What does the poet most likely mean by "golden butterflies" in the given line?



"At noon the roads all flutter With golden butterflies."”

1. Valuable plants growing on the side of the road.
2. Gold-coloured cars driving down the road.
3. Golden leaves falling onto the ground.

4. Golden coins falling from people’s pockets.

Correct Answer :-

« Valuable plants growing on the side of the road.

4) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer.- By Helen Hunt Jackson

What seasonal change does the poem focus on?

1. The change of season from autumn to winter.



2. The change of season from winter to spring.
3. The change of season from summer to winter.

4. The change of season from summer to autumn.

Correct Answer :-

« The change of season from summer to autumn.

5) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summaer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

How does the poet most likely feel about the month of September?

1. He probably thinks September is too cold.
2. He probably dislikes September.

3. He probably does not feel strongly about September.



4, He probably likes September a lot.

Correct Answer :-

« He probably likes September a lot.

6) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a
pacemaker that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the
Biotronik pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a
transmitter in a purse or on a bedside table. It forwards the details to Biotronik, triggering the
delivery of a fax to the doctor’s office. If patients experience scary symptoms, they can wave a
magnet in front of their chests to prompt an immediate transmission. Slightly costlier than
traditional pacemakers - it averages about $60000 - the Biotronik pacemaker is available now.
For more info, visit biotronik.com.

How is the pacemaker devised by Biotronik different from other pacemakers?
1. It is easier to replace

2. It is cheaper

3. It is smaller

4. It can fax daily reports

Correct Answer :-

It can fax daily reports

7) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a
pacemaker that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the
Biotronik pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a
transmitter in a purse or on a bedside table. It forwards the details to Biotronik, triggering the
delivery of a fax to the doctor’s office. If patients experience scary symptoms, they can wave a
magnet in front of their chests to prompt an immediate transmission. Slightly costlier than
traditional pacemakers - it averages about $60000 - the Biotronik pacemaker is available now.
For more info, visit biotronik.com.

What is the cost of the Biotronik pacemaker?
1. $50000
2. $20000
3. $60000

4. $30000

Correct Answer :-

e $60000



8) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a
pacemaker that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the
Biotronik pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a
transmitter in a purse or on a bedside table. It forwards the details to Biotronik, triggering the
delivery of a fax to the doctor’s office. If patients experience scary symptoms, they can wave a
magnet in front of their chests to prompt an immediate transmission. Slightly costlier than
traditional pacemakers - it averages about $60000 - the Biotronik pacemaker is available now.
For more info, visit biotronik.com.

What must the patient do when dangerous symptoms are noticed while wearing the Biotronik
pacemaker?

1. Push a button in the transmitter
2. Wave a magnet in front of the chest
3. Raise the voltage of the transmitter

4. Shake up the transmitter

Correct Answer :-

» Wave a magnet in front of the chest

9) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a
pacemaker that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the
Biotronik pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a
transmitter in a purse or on a bedside table. It forwards the details to Biotronik, triggering the
delivery of a fax to the doctor’s office. If patients experience scary symptoms, they can wave a
magnet in front of their chests to prompt an immediate transmission. Slightly costlier than
traditional pacemakers - it averages about $60000 - the Biotronik pacemaker is available now.
For more info, visit biotronik.com.

What are pacemakers?

1. A grafted valve in the heart
2. An artificial limb

3. A neurological device

4. A cardiac device

Correct Answer :-

e A cardiac device

10) Choose the appropriate pronouns for the given sentence.



Radhika interacts with customers from ____ house.
1. he, his

2. she, their

3. their, their

4. her, her

Correct Answer :-

 her, her

11) Fill in the blank with the correct option in the given sentence:
I’m afraid the manager is at the moment.

1. availing

2. availed

3. unavailable

4. unavailability

Correct Answer :-

» unavailable

12) Which of the following options best combines the following sentences?
The student was helped by the teacher. He made good progress.

1. Having the teacher helping the student, he made good progress.

2. Being helped by the teacher, the boy made good progress.

3. Good progress was made by the student as the teacher was helping him

4. Because the teacher helped him, so the student made good progress.

Correct Answer :-

« Being helped by the teacher, the boy made good progress.

13) Choose appropriate articles for the given sentence:

tribal people of some parts of Madhya Pradesh practise
is beauty of multiculturalism of India.

unique subculture which

1. The, a, no article required

2. The, no article required, a



3. A, 3, no article required

4. The, a, the

Correct Answer :-

e The, a, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.

Ram gave a glass of water to the beggar.
1. The beggar was given a glass of water by Ram.
2. The beggar is given a glass of water.

3. The beggar is given a glass of water by Ram.

4. The beggar got a glass of water from Ram

Correct Answer :-

¢ The beggar was given a glass of water by Ram.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

Some people stand out for their gallantry.
1. callousness

2. clout

3. eccentricities

4. courage

Correct Answer :-

e courage

16) Choose the appropriate tenses to fill in the blanks in the given sentence:

Vishnu to work in Japan, so he Japanese.

1. will want, will learn
2. want, will have learned
3. wants, is learning

4. is wanting, learns



Correct Answer :-

» wants, is learning

17) Choose the appropriate antonym for the highlighted word in the given sentence.

The boss disliked her recalcitrant attitude.
1. erratic

2. intuitive

3. compliant

4. unruly

Correct Answer :-
e compliant

18) Choose the appropriate prepositions for the given sentence:

He was prison a crime that he had not committed.
1. into, by

2. in, for

3.in, with

4, at, for

Correct Answer :-

19) Choose an appropriate modal for the given sentence:

If you are travelling internationally, you carry your passport with you.
1. could

2. would

3. must

4. might

Correct Answer :-

e must



20) Choose the option that best explains the highlighted expression:
I was completely wrong, and now I have egg on my face.

1. embarrassed

2. repenting

3. insulted

4. suffering

Correct Answer :-
e embarrassed

21) Choose the option that best transforms the sentence into its Indirect form:

I said, “Can the children get tasty meals at school?”

1. l asked if the children can they get tasty meals at school?
2. | asked if the children could get tasty meals at school?

3. l asked if the children could get tasty meals at school.

4. | asked if the children can be getting tasty meals at school.

Correct Answer :-

o | asked if the children could get tasty meals at school.

22) Choose the option that substitutes the given phrase appropriately.

A list of things to be settled at a meeting
1. Minutes

2. Reference

3. Issues

4. Agenda

Correct Answer :-

23) Report the following dialog and change to Indirect form:

Sam : Doctor, I am not feeling well today.



Doctor : Why? What happened?
Sam : My throat is paining and I think that I have fever.

1. Sam told doctor that he is not feeling well that day. Doctor enquired what had happened. Sam replied that
he had throat pain and he thought he had fever.

2. Sam told doctor that he is not feeling well today. Doctor enquired what had happened. Sam replied that
he has throat pain and he think he has fever.

3. Sam told doctor that he was not feeling well that day. Doctor asked what had happened.sam replied that
his throat is paining and he thinks he has fever.

4. Sam told doctor that he was not feeling well that day. Doctor enquired what had happened. Sam replied
that his throat was paining and he thought he had fever.

Correct Answer :-

» Sam told doctor that he was not feeling well that day. Doctor enquired what had happened. Sam replied
that his throat was paining and he thought he had fever.

24) Read the sentence carefully and choose the option that has an error in it:

My father caught my brother red-handed with a cigarette on his mouth.
1. my brother red-handed

2. with a cigarette

3. on his mouth.

4. My father caught

Correct Answer :-
¢ on his mouth.

25) Read the sentence carefully and choose the option that has an error in it:

In spite of its small size, these cameras take very good pictures.
1. take very good pictures.

2. In spite of its small size

3. these cameras

4. No error

Correct Answer :-

o these cameras



26) Choose the most appropriate determiner for the given sentence.

Everyone should have a check-up with the dentist __ six months.
1. all

2. each

3. another

4. every

Correct Answer :-

27) Choose the appropriate conjunction for the given sentence:
His plans, vast, were never visionary.

1. but

2. and

3. were

4. though

Correct Answer :-

28) Fill in the blank with the correct option in the given sentence:

The factory has an air puri-- plant to provide clean air for its workers.

1. --est

2. --fication
3. —-ify

4. --ness

Correct Answer :-
o --fication
29) Fill in the blank with the most appropriate preposition in the given sentence.

When it started to rain, we went the house.



1. onto
2. towards
3. under

4. into

Correct Answer :-

e into

30) Choose the right tag:

We ate a marvelous supper last night, ?
1. didn't we

2. haven't we

3. can we

4. don't we

Correct Answer :-

o didn't we

Topic:- Social Science (SSC)

1) FDI stands for ./ QTI"_\‘:&GI'I%, Tféra ¥ u %I
1. Financial Development Institution / BRARAT Sadudc W
2. Financing Data Initiative / Eb—lgﬁﬁm | sﬁ'm

3. Foreign Direct Investment / tﬁ\a_*f S'IEW @Eﬁf

4. Forex Directorate Institution / LbT\QOR-I SISTQOK‘,\I\{C 5%(‘.“I R

Correct Answer :-

« Foreign Direct Investment / BN Sl‘s\ﬁdrd éa%dﬁl.d

2) Which Constitutional Amendment Act lowered the voting age from 21 to 18 years? / m’

Haune Gxieq fafraw # aagE #1 3myg 21 J gerd? 18 af & &t 18 A2

1. 615t /619

2.620d /629

3. 66/ 66a



4. 641 ) 649

Correct Answer :-
. 615t /619

3) Which among the following are key faunal species that is being conserved and monitored in

‘Dachigam National Park'? / fAEfeIfaa & & #14 3t Uq 9 U] wTtaar g, o ‘g
P Fe H TR 3R Ftaror foar o w1 82

1. Golden Oriole / TTIes+ 3R
2. Hangul or Kashmir Stag / 871 AT AR fGR0T

3. Yellow-throated Marten / feIaRTeT

4. Musk Deer/m e

Correct Answer :-

« Hangul or Kashmir Stag / §7¢1 a1 HhRART fgur

4) Which Commission recommended that appointments of Governors should be strictly non-

partisan? / o ST A RywTiET 9t fop IrauTal 1 FAgfaal @ aedt 9 verdt &)
g anfge?

1. Malimath / HTfeIHS
2. Thakkar / P DX
3. Sarkaria / IRBTNAT

4. Punchhi / G&1

Correct Answer :-

. Sarkaria / GIHIT

5) Which school of philosophy propagated Project method of teaching? / E?ﬁ'?ﬂ'\‘ﬁ & foHy

faemmera A g &t afrae T vgfa @1 y=R fear

1. Naturalism / Wm
2. Pragmatism/ dgRdlq
3. Constructivism / XdTdI¢

4. Existentialism / &mﬁ

Correct Answer :-



. Pragmatism/ ddgRdlq

6)
Match List-I with List-II and select the correct answer using the code given below the Lists:
List-I{Text) List-II{Author)
A_Kitab-al Hind 1 Ibn Battuta
B.Rihla 2_Al-Biruni

C.Humavun Nama | 3 Lahori
D Badshah Nama | 4.Gulbadan Begum

- 113 |Ter G- 1 &1 FAeeT 1 3R gt & o BT 710 15 7 3931 3 981 3ok
o

e | G e
A Tohdre-37eT fgeg | 1. 5o aqdm
B. Rgar 2. 3e-Tasar
C. Mam 3. eBIRT

D. SIGE AT | 4. T[eTdce JaTH

1. A-3,B-4, C-1, D-2
2. A-3,B-1,C-4, D-2
3. A-2,B4,C-1,D-3
4. A-2,B-1,C-4,D-3
Correct Answer :-

e A-2,B-1,C-4,D-3

7) ‘Sustainable Development Goal’ is the universal action plan to end poverty and protect the
planet and ensure peace and prosperity. ‘Climate Action plan’ of SDG is in which goal among 17

goals? / ‘Had AR d&q’ T &) JHIE H MR T FI W&, Fifa ik gy gRffa s &
e Ird e o1 gieT 81 TSl &1 Siaarg S AeET 17 d8a § @ S 91 967 82

1. Goal 17 /&I 17
2. Goal 13 /71&0 13
3. Goal 11/ c1&d 11
4.Goal 1 /d& 1

Correct Answer :-

e Goal 13/78&J 13



8) The Andaman and Nicobar Islands are submerged parts of the mountain range called

UM R PR EuTgg __ udd 9 & JTaHY YN |
1. Arakan Yoma / 3RTT GHHT

2. Askai Chin / 3{&Ts o

3. Pegu Yoma / UL 1T

4. Tien Shan / faai 9

Correct Answer :-

o Arakan Yoma / 3RIb[H |

9) What is not true about the art and architecture of temples of Khajuraho? / GoRTg! & HfeR}
Pt HAT 3R IRGHAT & favg o Fa1 I7 181 72

1. Khajuraho temples contain erotic art inside the temple. / GoRTg! A=l | HAY & e HHH Hall
CSICA

2. Temples were made of sandstone. / HGR 3T TR Y 4 |

3. It was built in Nagara style of architecture. / 3% GRgHaT & AFIIST et H ST 74T 4TI

4. The columns and architraves were built with megaliths. / TH 3R aﬁfﬁﬁq oIy ¥ 9
T

Correct Answer :-

« Khajuraho temples contain erotic art inside the temple. / TORTG! HieR] & AR & 3ax HTYH Hell
ST &

10) Which of the following site is famous for stupas, monasteries, temples and pillars? /

fFrafifEa o @ 19 1 WA WU HsT, TiRY ok Tl & fore wlrs 82
1. Khajuraho / @RTg!

2. Ujjain / I=A

3. Vidisha / fafe=n

4. Sanchi / Tt

Correct Answer :-

« Sanchi /gt

11) The author of famous Gita Govinda, Jayadeva was court poet of: / Ui «ifia Mfdg» &
AP, SIUGd 3P AR} B U:

1. Lakshman Sena of Bengal / STl & @&H01 I



2. Prithviraj Chauhan / GdRTe1 96
3. Gopala /AT
4. Harsha / 89

Correct Answer :-

« Lakshman Sena of Bengal / §TTel & @&HUl 9

12) Article 356 of the Constitution is related to the imposition of rule in the state. /

TIAYUT BT 3G 356 fHadt =g & A AN H31 A Hafed g1

1. President’s / Tl'gqﬁf
2. Chief Minister’s / T

3. Prime Minister’s / UUTTHAT
4. Governor’s / IsYUTcl

Correct Answer :-

o President’s / Tlgqﬁ

13) What is the percentage share of agriculture in GDP during 2013— 14? / 2013-14 & EﬁTF'[,

SiS gt # Y &1 ufawra fewam w32
1. 15.9%
2.13.9%
3.10.9%

4.20.9%

Correct Answer :-

e 13.9%

14) RBIl is considered as the lender of last resort for ./ anﬁﬂan'é G| %ﬁm
A Helgrar AT ST 7 |

1. The cooperative banks / W éﬁ
2. The Regional Rural Banks / aftg urfior Sl
3. The commercial banks / ATOIGIP SbY

4. The Government / G¥DR

Correct Answer :-



« The commercial banks / TOICI® dh|

15) In which language was Rajtarangini written by Kalhan? / ®¢gUl = ool f

19T H et 82
1. Prakrit / Hlhd
2. Devnagari / REEIRIRY

3. Sanskrit / H¥pd
4. Pali / Tl

Correct Answer :-

« Sanskrit / G¥pd

16) In which year the NEP was introduced? / TIgU} {6 a9 # Y= @t 715 42

1. 1991

2.1992
3. 1990

4. 1993

Correct Answer :-

» 1991

17) Who among the following did not belong to the group of ‘Moderates’ in the formative

phase of the Indian National Congress? / ﬁ'ﬁﬁ'@ﬂ' A | $F YRdH™ TI'@'{T PO S
RIS TR § REUE & Iqg A Haftd T8 22

1. Gopal Krishna Gokhale / Mard Nyl ra
2. Dada Bhai Naoroji / &Ial q-|Ti:F AR

3. Bal Gangadhar Tilak / ST¢T TTIER IGNED

4. Surendra Nath Banerjee / {-R_;{ Y §oif

Correct Answer :-

. Bal Gangadhar Tilak / STcT TTTeR faeid

18) Who is a person who holds an office, not because he/she is elected to that post, but by
virtue of the fact that he/she holds another office called as? / dg aﬁq Hfad % 5] U



ST H P HIar 3, AU TR fP ag A ug F faw g mar g, afep g qua &
AMYR R P Ieur s FpHlagApd ewars, o ®gd§l

1. Ex-officio / Ug

2. Claimant / GTAGR

3. Ex - Ante / QW—Q%
4. Stakeholder / fedUR®

Correct Answer :-

« Ex-officio/ t@_"f

19) Who appoints the Advocate-General for the state? / TS & fere weTftraear &1 ﬁr{{%r
DI BT 2

1. President / TIE'CI'%
2. Chief Minister / T&IHAT

3. Parliament / §9¢

4. Governor / YUl

Correct Answer :-

o Governor / YUl

20) A test that predicts the future performance of a student in a particular area is known as:

/ TP gHteror ot el fady &7 ¥ ve o & wiiw & ez 3t yfasgarh sxar s, s@
Y U H ST SITdT &

1. Diagnostic test / A Tiem

2. Prognostic test / GaTHTRIT GR1&01

3. Achievement test / ST URI&TTT

4. Paper Pencil test / DTS Uyt utefun

Correct Answer :-

« Prognostic test / qafum’r U1

21) India after independence relied on food crop supplies from USA under the Public Law

e fafy i an & sidvid WdTdr Uil & 91¢ YR @Te BHal
B ITYfT F 1T Tgad o AR uR FaR T

1. 450



2.490
3. 480
4. 470

Correct Answer :-

« 480

22) among the following is an example of industries which are run with the help of

family members, friends and relatives. / ﬁ'ﬂqﬁ'@ﬁ & HYT, Uh Q@ SR BT
SETERTI 2, S URAR & e, SRal R REIER $ ee @ e W 2

1. Large and Medium scale industries / El@ 3%7 AH TR &b BEFFT
2. Capital industries / E\IJ'_\Trﬂ IR

3. Cottage industries / W RO

4, Regional industries / &g IR

Correct Answer :-

. Cottage industries / FER SN

23) The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose -/ %ﬁa@ﬂa‘rmﬂﬂmmmmﬁﬁ e
SUHNT & I | 3= M T ST H1 F forg Ium fpar sran g -

1. Fiscal goods /W'Eﬂ'qaﬂq

2. Capital goods / U,Sfﬂ"lﬁ RGSIY

3. Consumer goods / JqHYeT RGSAY
4. Perishable goods / ICEQRiK JEJU

Correct Answer :-

« Capital goods / Ujrﬂ"lﬁ RSSIY

24) The amount of water vapor actually presents in per unit weight of air is known as: / gdl

& Yfd gH1S HR F SUFRYA aTed H1 AT FHardl o
1. Absolute Humidity / fRUer amean

2. Saturated Air / HJW A
3. Relative Humidity / STOf8 3Tedl



4. Specific humidity / TafRTY S{TedT

Correct Answer :-

« Specific humidity / [afRIF 3fTgan

25) The Conference held in led to the establishment of Non-Aligned Movement

(NAM)./ W Smaiforg aed & SR e Frg sigies (vam) 3t fa uh
1. Yugoslavia/ I AT

2. Belgrade / 9TUS

3. Egypt/ {0

4. Bandung/ a|'|§"T
Correct Answer :-

« Bandung/ EI'IE,T[

26) The name of the teacher of Ajivika religious sect was: / STeiifaeT uTfife Juera &
3TaTd ST AT UT:

1. Puran Kashyap / Yq w4y
2. Ajit Kshekamblin / 3{Sitd &idrafer

3. Sudas / {ald
4. Makkhaliputra Gosala / WW NI

Correct Answer :-

« Makkhaliputra Gosala / Wﬁﬂ;ﬁ NI

27) The method of teaching that is suitable for developing democratic attitude is: / QT&‘I'UT )

faftr <t Aeaifie =@ faela #33 & e Suge @:
1. Brainstorming method / foaR-Ty fafg

2. Activity method / fafafdr fafer

3. Lecture method / SIREAT fafef

4. Historical method / Qiaélm$ ﬁﬁ[

Correct Answer :-

« Brainstorming method / foarR-dy fafy



28) The evaluation that is concerned with the performance of the individual in terms of what
he can do or the behavior he can demonstrate is termed as: / 98 Jedib oY safad & WeRlH
& Ty T § b a8 71 % GHd1 € U1 98 9l AaeR USRid &% gPdl g, 39 = Fa1
EIGIEE

1. Formative evaluation / fFRfOTd® HAih
2. Norm-referenced evaluation / STHIRT -3 &l HAlh

3. Summative evaluation/ I Ji?”id”ﬂ
4. Criterion-referenced evaluation / TGS - HaHd H™ih

Correct Answer :-

. Criterion-referenced evaluation / AFGS - & [4d H™ih

29) The proponent of basic education is: / H{¢T ren & guds %
1. Mahatma Gandhi / AT TTieht

2. Swami Vivekananda / ﬂflﬂjﬂ ICCEARL

3. Jiddu Krishnamurti / fSTgg 9L
4. Rabindranath Tagore / IS gAY SR

Correct Answer :-

« Mahatma Gandhi / HSTHT Trieft

30) Cooperative banks in India falls under the Banking Regulation Actof ./ HRd H
Teprid®d & dfd faframe sifuferas & siafd sma @1

1. 1947

2. 1950

3. 1949

4. 1948

Correct Answer :-

« 1949

31) Which committee recommended for the creation of the post of District Development

Commissioner? /WWW%W%W%WWW%W@”
1. M.L. Dantwala / TH.Td. GiddTell



2. Ashok Mehta / 3Rh ﬁ%?ﬂ
3.G VK Rao/SH. d1. &. @
4. Hanumantha Rao / Bﬂq?ﬂ [d

Correct Answer :-

« GVKRao/Sil.d. &.3d

32) Which of the following is a Greenhouse Gas? / frgfeafaa A B Udh ‘;ﬂm i
87

1. Argon / 3

2. Oxygen / SRS

3. Nitrogen / :ﬂ%aﬁltf

4. Carbon dioxide / T SERIESIES

Correct Answer :-

« Carbon dioxide / PTa SZATHATSS

33) Which of the following is not included in Project method? / fAferfEad # | ®19 Metae
faftr o =nfra = 82

1. Problem type / UT§eH €18U
2. Projector type / uﬁw cIgy
3. Drill type / f$a1 T8

4. Inquiry type / S dIgR} €2y

Correct Answer :-

 Inquiry type / QP GIURI ER

34) Which of the following is not an aim of Social Science? / Frafefea o 9 ar gmoe

fasT &1 v& e e 37

1. Developing right attitudes / ﬂﬁ q:hq% famRrd &=

2. Intelligent democratic citizenship / §@Tﬂ:{ dAlpdie AR
3. Building social competence / BIEINED H'I'JI[?{'E{ &1 fAmfor

4. Making a rich economy / Uch JHx S TaRIT AT

Correct Answer :-



« Making a rich economy / Udh HH& SJTaRIT S|

35) Which of the following is not the objective of teaching Social Science? / ﬁ'ﬁﬁ'@ﬂ' o3

T GRS FIFH & UeM &1 3exa A8 82

1. Social development of the child / &= BT ATHIID fabr

2. Creation of leadership quality / e 1 T[0T BT AT

3. To prepare an ideal citizen / Uch 3MTeef AR daR &l

4. Memorization of the events /‘EIE:ITG'ﬁ hT THIT

Correct Answer :-

« Memorization of the events / ger3 &7 HIOT

36) Which of the following institutions was not founded by Mahatma Gandhi? /ﬁ'ﬂﬂmﬁ

B A DI A1 YT HeTET M & gRT i A8 far ma ur?
1. Seva Gram / 4dT UTH

2. Phoenix Ashram / qﬁﬁw STHH

3. Banaras Hindu University / SFTRY fg-{g fa=afasgmea

4. Sabarmati Ashram / TSR STYH

Correct Answer :-

« Banaras Hindu University / dRY %:@ ﬁmﬁw

37) Which of the following was the most important reason for lowest sex ratio in the 1991

census of India? / FFrafeEa & & @ 1991ﬁmaﬂmﬁmm%ﬁuﬁm
Y UgdYUl HIROT T2

1. Sex selective abortion / Ul HUT el

2. Malnutrition / W
3. Son preference / Q3 UTUHHT

4. Undercounting / 3{UITUIAT

Correct Answer :-

+ Sex selective abortion / Ul YUT 5T



Which of the following is the most prominent problem that a teacher faces while teaching

social science?/mﬁﬁﬁqmmmmﬁ,ﬁwﬁrwaﬁm
o= Te™ & SR St 82

1. Balancing the different learning needs of the pupils / faenfial o faftrd siferm sraxadmarsii
D! gferd HAT

2. Helping all students to get maximum marks / Gt BT I HfUHTH 3 U B+ H Adg
PAT

3. Helping the students to meet long-term goals / I DI SrdpIfcrs aeal ol xr A H Hag
hHAl

4, Accommodation of diversity of the students character / BHE & IR B fafaedr o1 smar

Correct Answer :-

« Balancing the different learning needs of the pupils / faenffal ot faftrd iferm snaxgdmarsi

D! gferd DT

39) Which of the Indo Pakistan wars resulted in creation of Bangladesh? / YRA-UTfhe=

¥ 5 g & ufomraey sivaresr &1 fFmfor gam
1. 1999
2. 1965
3. 1984

4. 1971

Correct Answer :-

e 1971

40) Which among following schemes was first implemented for the alleviation of poverty in

India in the year 2015? /ﬁﬂqﬁf@ﬁﬁﬁﬁqﬁmaﬁlﬂﬁﬁmﬁmm
& forg amy & 718 At

1. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgIHI et TI'@T[
YTHIOT ASHTR TRET Sffafae

2. Pradhan Mantri Gram Sadak Yojana / GUTHAT U9 TSh BIcE
3. MUDRA scheme / gl IS

4, Central Cooperative Scheme / W W BISEI]

Correct Answer :-

« MUDRA scheme / H&I IS



41) Where is the head quarters of United Nations situated? / TGl TY PTHEITAY Pal

Rag?
1. San Francisco / @q THiRIHT
2. Washington / qTiRivTe

3. New York / “gdid
4. California / pTeTRIT

Correct Answer :-

« New York / :’Iq-\l%

42) In the modern education system, the role of social science teacher is as: / ST Rr&

worert §, AT fagm Riere &) Yfrer s TR §:
1. Follower / Gﬂql'fﬁ

2. Friend / f8F

3. Facilitator / GW
4. Philosopher / GQi:lQIIFlﬁn

Correct Answer :-

« Facilitator / W

43) Name the state which granted the ‘Golden Farman’ to British to trade freely on payment
of 500 ‘PAGODAS’. / 3 I BT TH Fard fora™ fafe=r &t 500 T ie’ & YraA w®
A U 8 TR B & [1Q a1 Byar-fear o

1. Bidar / iaaR

2. Bijapur / W
3. Berar / SRR

4. Golconda / Thﬂ%’[

Correct Answer :-

+ Golconda / Tﬁﬂw

44) Who founded the city of Agra? / 3TTIRT TER P WITYAT = $1?

1. Humayun / §I|T€f\
2. Shah Jahan / RITESTG



3. Akbar / hd
4. Sikandar Lodhi / & e ?ﬁ‘iﬁ

Correct Answer :-

« Sikandar Lodhi / R a3 ?’ﬁ‘&ﬁ

45) When was the First Battle of Tarain fought? / RIS DT YYH Y& D ST AT YUT?
1. 1206 A. D.
2. 1195 A. D.
3.1191 A. D.

4. 1175 A. D.

Correct Answer :-

« 1191 A. D.

46) Which of the following statements is correct regarding social science? /

fafafad 8 @ +19 91 Fy= Imfore (g & Jd9u @ 981 82

1. Social Science can be optional at school level. / RIEISED ﬁ?ﬂq IFEINEESEECT CEARED E?f
IHdl gl

2. Social Science studies only the events of the past. / 1T fagm Had 3rdid &1 ge-rsi &l
3T BT 5 |

3. Social Science is a harmonious blend of various subjects. / BIEIEED ﬁ?ﬂ:[, faf¥ra fawal &1

TSRt o g |

4. Social Science subject matter changes according to the ideals of the ruling party. / JMHTRSI® fagT=
faw avg, IN® T & G & STIR deadl g

Correct Answer :-

« Social Science is a harmonious blend of various subjects. / AT fax, fafte fawat &1

greeregguf fAreor g |

47) Students re-create the teachers’ apparatus in which a paper clip tied to a
string ‘moves’ over a magnet. This method is called . | O3, f1ere Iudor
@I T1:GF Hd &, FOorad T gad & SR TP R A de1 YuR foequ avmman oimar 1 59
fafa <t ST AT 8

1. Inquiry Resolution / S REAL

2. Guided Inquiry / IBEEG] PERIE]



3. Open Inquiry / 3 PEGIE)
4, Invitation to Inquiry / S & forg fAmon

Correct Answer :-

 Guided Inquiry / BRI PERNIES

48) An observation which is written like a short story is known as: / B HEHL
¥ e forfad vs sraeie A= U § 91 STar 8:

1. Conduct Register / o'hsqac QIrGN-I\C*{

2. Anecdotal Record / SURSIHIHS RNbis
3. Teachers Log Book / RI&fe &I g
4. Cumulative Record / It Repls

Correct Answer :-

« Anecdotal Record / SURATIHSD Rebig

49) Who among the following was popularly known as the ‘Frontier Gandhi’? / ﬁ'ﬁ"%l'@_d

A I frd iR midh & A1 | SET SITar 912

1. Maulana Abul Kalam Azad / HIGTT SENICANIERS NI

2. Igbal khan / gh el MG

3. Abdul Ghaffar Khan / 3{eg¢l TTHPIR W[
4. Hasrat Mohani / @9%d ﬁﬂ:ﬁ

Correct Answer :-

+ Abdul Ghaffar Khan / 3egcl THRIR W4

50) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and

social work? / 1896 H AT I8d 3MR ATHTTS HTI TR} R@A & forg v frwr= &t
RITYHT fra #1?

1. Swami Vivekananda / @Wﬂﬁaw

2. Ramakrishna Paramahansa / RTHP W[ UYXH gY

3. Swami Dayananda Saraswati / WTH GG IRdl

4. Blavatsky and Olcott / STATR! 3R 3fehle

Correct Answer :-



« Swami Vivekananda / ¥dTH! f[dd®He

51) In which year was the Dutch East India company formed? /S é‘&’ E'%TIT HYHI BT
e+ fore adf # foram war a2

1. 1616
2. 1620
3. 1614

4. 1602

Correct Answer :-

« 1602

52) CANCELLED
How much is adiabatic cooling rate? / R =g 34 (Q'%CITaﬁ'EF WT%?) feat %?

1. 5° C/Km
2. 8° C/Km
3.15° C/Km
4. 10° C/Km

Correct Answer :-
« 10° C/Km
53) CANCELLED

Where in the “Ninety East Ridge” submarine volcanic ridge located? “=|13‘—rc"t gﬁ' fror A

AR Sararg! udadft (e sef fRa @2
1. Indian Ocean / [eG ASRITR

2. Arctic Ocean / 3fTh{cd HETR

3. Atlantic Ocean / 3{cdilcd HERNR
4. Pacific Ocean / URId SRR

Correct Answer :-

54) CANCELLED



The study of ‘Man’s ethos’ is: / "I & APER' BT AT 3= gia1 8:
1. Psychology / ﬂﬁaﬁ?ﬁﬁﬁ

2. Sociology/@w

3. Anthropology / Q@hﬁ?ﬁ%ﬂ

4. Geology / SIS

Correct Answer :-

« Anthropology / Q@hth?ﬁﬁﬁ

55) CANCELLED

Who stated that, ‘Grades cause an emotional reaction, either positive or negative. Feedback
causes you to think and engage, which is reflective learning’? /

fraa we1 {9, ‘I8, T HIaTHS ufaferar ST a1 & S U7 df YPRIASD aT
THRTAP &l ol ¢ | gy (Pisd®) mus! Jeam iR oI ¥@q § JgrdT $dl
g, o fia=ha Rien 812

1. Dylan Wiliam / ST faferad
2. Paul Black / UTdl §[Ai

3. Charles Beard / W CRE]

4. Miller / THeR

Correct Answer :-

« Dylan Wiliam / /g faferaw

56) CANCELLED

The primary source of data is: / 32T T UTYfH® W &:

1. Biographies / W%ﬂﬁ (EI'@W'CF)QD

2. Bibliographies/ Y¥dd ﬂﬁﬁﬂ (@Hm

3. Commentaries and treatises / S1BT1-fCTOMT 3R 3MTeRa
4, Proclamations / EIWUTFQ

Correct Answer :-

e Proclamations / En'EI'Uﬂ'Q



The largest contiguous cotton-growing region in the world is located in which among the

following countries? / ﬁ'ﬁ"%l'@_d o9 fea %QT s | ﬁ%’ COR: G qd8T mﬂ DU SUlqh
A fRae?

1. China / 9
2. United States / GG I AR
3. India / HIRd

4. Pakistan / UTfop &

Correct Answer :-

« United States / Ggdd IoT AR

58) The only two landlocked countries of South American continent are / Efa‘l'UT

AT HETEIT F Had g WA= o gl

1. Surinam and Guyana / w 3R gr-r
2. Columbia and Paraguay / HIcfear 3R WA
3. Bolivia and Paraguay / Srefifaar 3R R

4. Ecuador and Parana / sems\le GﬁT IRTAT

Correct Answer :-

 Bolivia and Paraguay / EINIERIREIER RG]

59) Which among the following is the lowest level of a body of water such as an ocean or a

lake? / Fraferf@d & A a1 HETATR a1 3ha oRkft oid &1 g TS &1 Had R wR 82
1. Demersal / SHAA

2. Neritic / ARfe®H

3. Benthic / Sf®

4, Pelagic R GINED

Correct Answer :-

« Benthic/ IR

60) Who was re-elected the President of INC at the Tripuri Session in 1939 by defeating
Gandhiji’s candidate Pattabhi Sitaramaiyya? / il & Sfigar ugify Hardar &t
DR 1939 W Y T ° P19 199 F remer gAfatfea fre mu?

1. Dr. Rajendra Prasad / SIS RS



2. B.J.B Kriplani / 1.5 &1, UL
3. Subhash Chandra Bose / gHTY Ig CIES|

4. Nellie Sengupta / ﬁ?ﬁm

Correct Answer :-

« Subhash Chandra Bose / HTY T CI5|



